Proof of the Unique Solution of the 11-clue X Pandemonion
submitted to Wikipedia

The Puzzle
3
1 618
3
)
2
The Rules

1 Every row, column and cluster must contain the numbers 1 to 9.
2 The green cluster is in nine parts. It must also contain the numbers 1 to 9.
3 The numbers 1 to 9 must appear on both red diagonal lines.

Identifying the clusters

2

Giving each cluster a number will make the
— task of explanation much easier.
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The Proof

Entry Number 1
A B C D E F G H |

1 : .
The cells at D5 and I5 are "intrusion" cells.

2 They are the only two in the clusters at the

3 bottom half of the puzzle (i.e. clusters 6, 7, 8

4 3 and 9) to push into the upper half of the puzzle.

5 1 618 In order to be compensated, i.e. in order to
ensure that the numbers in those cells are fully

6 3 represented in rows 6, 7, 8 and 9 the numbers in

7 those cells must be replicated in green (cluster-

8 5 1) cells at F6 and H8. As HS8 is already occupied
8 must occupy F6.

9 2

Entry Number 2
A B C D E F G H I

1

2

3

4 3 The corollary of the fact stated at entry

51 1 6138 4 | number 1 is that 4 (from H8) must be

6 3 replicated at I5.

7

8 3

9 2
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Entry Number 3

A B C D E F G H |

1

2

3

4 413

51 1 618 4 | G4 is the only cell available to 4 in cluster 5.

6 3

7

8 )

9 2

Entry Number 4
A B C D E F G H |

1

2

3 Cells E2 and E6 act similarly to those at D5

4 4|3 and I5 (see entry number 1) which means

5 3 618 7 that the numbers therein must be replicated
at green (cluster-1) cells at A1 and D4. 3 at

6 3 E6 requires replication at Al or D4 but 3 at

7 H4 blocks D4 so 3 must occupy Al.

8 5

9 2

Entry Number 5
A B C D E F G H I

1

2

3

4 413 All other cells on this diagonal are blocked

51 1 6118 4 | including by the fact that 3 at A1 is located

6 3 in a cluster-1 cell. So, 3 must occupy C7.

7

8 )

9 2
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Entry Number 6

A B C D E F G H |

1
2
3
4 4|3 , :
Now 8 is blocked to all other cells on this
51 6] 8 4 diagonal. So, it must occupy A9 ....
6 3
7
8 5
9 2
Entry Number 7
A B C D E F G H |
1
2
3
4 4|3
51 1 6138 4 | ... asis 4, which must occupy D6.
6 3
7
8 5
9 2
Entry Number 8

A B C D E F G H |

1

2

3

4 4| 3 D4 is the only green (cluster-1) cell

5 3 618 7 available to 9. All the other green cells are
blocked to 9 by virtue of the fact that they

6 3 share the same diagonal as 9 at BS.

7

8 5

9 2
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Entry Number 9

A B C D E F G H |

1
2 9
3
4 e 9 t E2 fi t out at ent
must occupy or reasons set out at entry
5 L1 618 4 number 4.
6 3
7
8 3}
9 2
Entry Number 10
A B C D E F G H |
1
2 9 The numbers still available on the diagonal
3 from Al to 19 are: 1, 2, 5 and 6. Note that 1
4 4|3 at G3 and 6 at C5 create "intersections" on
5 3 618 7 this diagonal at C3 and ES5. This means that
1 and 6 must occupy B2 and I9 in some
6 3 order, leaving 2 and 5 to C3 and ES. 5 at C8
7 blocks C3, leaving 5 to ES and,
8 5 consequently, 2 to C2.
9 2
Entry Number 11

A B C D E F G H |

B5 is the only cell in row 5 available to 3.
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Entry Number 12

A B C D E F G H |

1

2 9

s[9[4

4 4|3 A3 is the only cell available to 9 in cluster 4
5 1 31618 4 | which, in turn, makes B3 the only cell

6 3 available to 4 in the same cluster.

7

8 5

9 2

Entry Number 13

A B C D E F G H I

1
2 9 > .
4+—1 1s at G3 and A5 block all cells in cluster 5
3194 other than 12 and I4. We established at entry
4 4 | 3 |1 ] number 10 that 1 and 6 occupy B2 and I9 in
51 1 31618 4 | some order. That order is not important at
6 3 the moment but, in combination, they form
7 an "intersection" at 12, thus excluding 1 and
8 5 6 from this cell. So, 1 must occupy 14.
9 2
Entry Number 14
A B C D E F G H |
1
2 9
3194
4 41311 The recent placement of 1 at 14 now blocks
s 113618 7 19, which forces 1 to occupy B2 on that
diagonal which, in turn, permits 6 to occupy
6 3 the last cell on the diagonal - at I9.
7
8 5
9 2
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Entry Number 15

A B C D E F G H |

1

2 9

319 |4

4 4 | 3] 1

5111 3|61S8 4 | C9 is the only cell available to 1 in cluster 7.
6 3

7

8 5

9 211

Entry Number 16

A B C D E F G H I

1
2 9
3|94 6
4 4 13| 1 H3 is the only cell available to 3 in cluster 5
5113|618 4 | while C6 is the only cell available to 9 in
6 9 3 cluster 6.
7
8 3
9 2| 1

Entry Number 17

A B C D E F G H |

1
2 9
3194 6
1 413 1 F4 is the only green (cluster-1) cell available
s|1[3]6]s 4l e
6 9 3
7
8 5
9 2| 1
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Entry Number 18
A B C D E H |
9
9|4 6
2 3|1
1[3[6]8 4
9 3
5
2|1
Entry Number 19
A B C D E H |
9
9|4 6
2 31
1[3[6]8 4
9 3
416
7 5
2|1
Entry Number 20
A B C D E H |
9
9|4 6
2 3|1
1[(3[6]8 4
9 3
416
7 5 3
2|1

E4 is the only cell available to 2 in row 4.

A7 is the only cell available to 4 in cluster 7
and A8 is the only cell in the same cluster
available to 7. So, when 4 and 7 are placed 6
must occupy the only remaining cell in
cluster 7 - B7.

I8 is the only cell available to 3 in cluster 9
and in column .
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Entry Number 21

A B C D E F G H |

1

2 9

319 |4 6

4 5 2 4 | 3] 1 5, 7 and 8 are the numbers still available in
51 1 31618 4 | cluster 4.7 at A8 and 8 at A9 block A4,

6 9 3 leaving only 5 to occupy this cell.
7476

817 5 3

9 2|1

Entry Number 22

A B C D E F G H I

1

2 9

319 |4 6

415 2 4 | 3] 1

51 1 31618 4 | 17 is the only cell available to 9 in column L.
6 9 3

7]4]6 9

8|7 5 3

9 2|1

Entry Number 23

A B C D E F G H |

1

2 9

319 |4 6

415 2 4 | 3] 1

5111 3|61S8 4 | H7 is the only cell available to 8 in cluster 9.
6 9 3

714 |6 819

817 ) 3

9 2|1
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Entry Number 24

A B C D E F G H |

1

2 9

319|4 B

5 1 3/618 2 Look around!, all numbers other than 1 are
blocked at E7 and other than 4 at E9.

6 9 3

71416 1 8|9

817 5 3

9 2 [ 1 4

Entry Number 25

A B C D E F G H I

1

2 9

319 |4 6

415 2 4 | 3| 1 Look around!, all numbers other than 2 are
5113|618 4 | blocked at F8. Then, with 2 located in F8, 5
6 9 3 is revealed at F7.

714 1|6 1[5 8|9

8|7 5 2 3

9 2|1 4

Entry Number 26

A B C D E F G H |

1

2 9

319|4 6

415 2 4131

51113(61]8 4 | 2 is the last remaining number in row 7.
6 9 3

7141|6 21115 819

817 ) 2 3

9 2 | 1 4
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Entry Number 27

A B C D E F H |
1
212 9
319 |4 6
415 2 3| 1
501[3|6]8 4
616 9 3
71416 21115 819
817 5 2 3
9 2|1 4

Entry Number 28

A B C D E F H |
1
2|2 9
319 |4 6
415 2 3| 1
501[(3]|6]8 4
6|6 9 3
714 1|6 2115 8|9
8|7 5 2 3
9 2|1 4

Entry Number 29

A B C D E F H |
1
212 9
319 |4 6
415 2 3| 1
501[(3|6]8 4
6|6 9 3 7
71416 2115 819
817 5 2 3
9 2|1 4

A2 is the only cell available to 2 in cluster 2,

thus forcing 6 to complete column A at A6.

I1 is the only green (cluster-1) cell available
to 2, leaving 7 to take the last green cell at
H2.

16 is the only cell available to 7 in cluster 9.

Proof of the Unique Solution of the 11-clue X Pandemonion submitted to Wikipedia

11



Entry Number 30

A B C D E F G H |

1

2|2 9

319|4 6

als > 4131 Look around!, B6 is plocked to all numbers

5 3 316ls8 7 other than 5 and D8 is blf)cked to all
numbers other than 1. With these numbers

6|6 5 9 3 7 revealed, 7 completes cluster at 6 D9.

7141|6 211 1|5 819

8|7 511 2 3

9 2111714

Entry Number 31

A B C D E F G H I

1

2|2 9

319 |4 6

415 2 4 13| 1 HO is the only cell available to 5 in cluster 9,
51113(61]8 4 | cell G6 is blocked to all numbers other than
6le!l 59 3 2111 7 2, leaving 1 to complete cluster 9 at H6.
714 1|6 2115 8|9

8|7 511 2 3

9 211714 5

Entry Number 32

A B C D E F G H |

1

2 ]2 9

319|4 6

4|5 2 4 | 3 | 1 ] F5is the only cell available to 7 in cluster
511|13[6]8 7 19| 2] 4| andH7 is the only cell available to 2,
616|519 3 é 1 | 7 | leaving9 to complete row 5 at G5.
7141|6 211 1|5 819

817 511 2 3

9 2111714 5
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Entry Number 33
A B C D E F G H I
1
212 9
319|4 6
415 2 4131
511|13[6]8 7191214
616|159 3 21| 7
7141|6 211 1|5 819
817 511 2 3
9 2111714 9 3 5
Entry Number 34
A B C D E F G H |
1 9
212 9
319|4 6
415 2 4131
511]13[6]8 /7191214
61659 3 2117
71416 21115 8|9
817 511 2 3
9 21117141935
Entry Number 35
A B C D E F G H I
1 9
212 9
3194 3 6
415 2 4131
511|13[6]8 7191214
616|159 3 21| 7
7141|6 211 1|5 819
817 511 2 3
9 211171419 3]5

F9 is the only cell available to 9 in row 9,

leaving 3 to complete the row at G9.

9 completes column H at HI.

F3 is blocked to all numbers other than 3.
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Entry Number 36

A B C D E F G H |

1 9
212 9
319 |4 5 3 6
415 2 4 | 3] 1
511|13[6]8 71 9| 21 4 ] D3isblocked to all numbers other than 5.
6]6[5]9 3 21117
714 |6 21115 819
8|7 511 2 3
9 2111714[(9]3]5
Entry Number 37

A B C D E F G H |
1 9
2 [2 9 5
3|94 51713 6|8
al5 2 4 | 3] 1 12 is the only cell available to 5 in cluster 5
4 KRR I S SR e
6161519 3 21 117) 7t complete row 3 at E3.
71416 21115 8|9
8|7 511 2 3
9 2(11714[(9]3]5

Entry Number 38

A B C D E F G H I
1 1 9
2|2 914 5
319 |4 51713 6|8
415 2 4131 F1 is the last cell available to 1 in cluster 3
501[(3|6]8 719 2] 4] and columnF, leaving 4 to complete column
6[6/5]9 3 2 1] 7] Fak2
714 |6 21115 819
8|7 511 2 3
9 2(11714[(9]3]5
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Entry Number 39

A B C D E F G H I
1 71416]8]1[5]9
212 8/3[9]141]6 5
319|4 5173 6|8
415|8|7 2 4131
501[3|6]8 7191214
6]6[5]9 3 21| 7
7141|6 211 1|5 819
817 5111612 |8 3
9 211171419 3]5

The completed X Pandemonion

A B C D E F G H |
1 7141618159
212 8[3[9)]4]|6 5
319|4 5173 6|38
415|817 2 4131
501[(3]|6]8 /7191214
61659 3 2117
714|6 211 1|5 819
817 51116|2]| 8 3
9 21117141935

We have sufficient entries to complete the
puzzle without controversy.
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